log [(AY/Y) 1 (AYIY),]

HAULAB -Y sensitivity
SH/Su=BYMIAYIN)y

normalized to (AY/Y),
28100 =s(Y/Yp)'-d (Y,=100Y,=37,5=134,6, n=0,31, d=49,5)[]a
L*=r (YIY)"-d (r= s(Yu/Yn)":79,10,L*u= r-d =29,5) [1b
l
Y_curve, ij=1, Yuij= _37 L*uij=! 50
14 99,.YKJJ=.100.1-*KH‘ 0.A
=37, Ykij=38, L*ki 502 Y/Y)/(A\;/ 099 =120
k=1, Ykij=2, L*kij= Y/Y)/(AWY) Lo 21000cd/f
k=0, Ykij=1, L*klj— @ﬁw( YY)} 308 cawz T000C
- - Seo application
Ofle = ==
Fpk A
' L*tus/L* Tuu
1 =(Y/y)in(10)
-1 0,1 1 10 "Y,=18100
2 -1 0 1 2 logY
heo71-2a




